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Student's satisfaction 2016/2017. II. Digital Dentristry 4th year
Válaszadók száma = 2
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n=mennyiség
átl.=átlag
md=Medián
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Válaszok relatív gyakorisága Átl. elt. Átlag Medián

Skála Hisztogram

1. Student's assessment of the educational work of the institute1. Student's assessment of the educational work of the institute

How many percent of the lectures did you attend?1.1)

n=20-20% 0%

21-40% 50%

41-60% 50%

61-80% 0%

81-100% 0%

Were the official course books/notes, identified/
given?

1.2)
51 n=2

átl.=2,5
md=2,5
elt.=0,7
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To what extent did the official course books/notes
help to acquire the subject?

1.3)
51 n=2

átl.=3
md=3
elt.=1,4
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To what extent did the lectures help to learn the
subject?

1.4)
51 n=2

átl.=3,5
md=3,5
elt.=0,7
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To what extent did the practices help to improve
practical abilities?

1.5)
51 n=2

átl.=3,5
md=3,5
elt.=0,7
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To what extent were the pre-stated exam
requirements in accordance with the examinations
and the mark obtained?

1.6)
51 n=2

átl.=3
md=3
elt.=1,4
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To what extent did you find the conditions of the
exam acceptable (when did the exam start, length
of exam, etc.)?

1.11)
51 n=1

átl.=3
md=3
elt.=0
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How valuable, do you find the educational work of
the institute all together?

1.12)
51 n=2

átl.=3
md=3
elt.=0
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Thank you for helping our work with your answers.
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Hisztogram skálázott kérdésekhez

Were the official course books/notes, identified/
given?

50% 50%

51

átl.= 2.5

elt.= 0.7

n = 225%

50%

75%

100%

To what extent did the official course books/notes
help to acquire the subject?

50% 50%

51

átl.= 3

elt.= 1.4

n = 225%

50%

75%

100%

To what extent did the lectures help to learn the
subject?

50% 50%

51

átl.= 3.5

elt.= 0.7

n = 225%

50%

75%

100%

To what extent did the practices help to improve
practical abilities?

50% 50%

51

átl.= 3.5

elt.= 0.7

n = 225%

50%

75%

100%

To what extent were the pre-stated exam
requirements in accordance with the examinations

50% 50%

51

átl.= 3

elt.= 1.4

n = 225%

50%

75%

100%

To what extent did you find the conditions of the
exam acceptable (when did the exam start, length of

100%

51

átl.= 3

elt.= 0

n = 125%

50%

75%

100%

How valuable, do you find the educational work of the
institute all together?

100%

51

átl.= 3

elt.= 0

n = 225%

50%

75%

100%
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Profil

Összehasonlítás: Student's satisfaction 2016/2017. II. Digital Dentristry 4th year

A profilvonalban használt értékek Átlag

1. Student's assessment of the educational work of the institute1. Student's assessment of the educational work of the institute

1.2) Were the official course books/notes, identified/
given?

1 5
n=2 átl.=2,5 md=2,5 elt.=0,7

1.3) To what extent did the official course books/
notes help to acquire the subject?

1 5
n=2 átl.=3,0 md=3,0 elt.=1,4

1.4) To what extent did the lectures help to learn the
subject?

1 5
n=2 átl.=3,5 md=3,5 elt.=0,7

1.5) To what extent did the practices help to
improve practical abilities?

1 5
n=2 átl.=3,5 md=3,5 elt.=0,7

1.6) To what extent were the pre-stated exam
requirements in accordance with the
examinations and the mark obtained?

1 5
n=2 átl.=3,0 md=3,0 elt.=1,4

1.11) To what extent did you find the conditions of
the exam acceptable (when did the exam start,
length of exam, etc.)?

1 5
n=1 átl.=3,0 md=3,0 elt.=0,0

1.12) How valuable, do you find the educational work
of the institute all together?

1 5
n=2 átl.=3,0 md=3,0 elt.=0,0


